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QUESTION 1

Which command would create LUN clone named lun0.clone from the LUN lun0O on volume vol2?
A. llun clone start create /vol/vol2/lun0.clone -b /vol/vol2/lun0O snap_recent

B. llun clone create /vol/vol2/lun0.clone -b /vol/vol2/lun0 snap_recent

C. llun clone create /vol/vol2/lun0 -b /vol/vol2/lun0.clone snap_recent

D. llun clone create /vol/vol2/lun0.clone -b /vol/vol2/lun0 -s snap_recent

Correct Answer: B

QUESTION 2

What are 3 true statements about physical reallocation of data added in ONTAP 7.3? (Choose three.)

A. Volume Snapshots do not need to be deleted for the reallocate to run effectively

B. Reinitialize any SnapMirror relationship for the new physical geometry

C. Don run it on files, volumes, and LUNs that are in an aggregate created by a version of ONTAP earlier than 7.
D. Use ggr reallocate -p pathname to run the physical reallocate

E. Use allocate -p pathname to run the physical reallocate

Correct Answer: ACE

QUESTION 3

Which three are true of the NetApp iSCSI target (ISWT)? (Choose 3.)
A. Itis an iSCSI software interface

B. Itis an iSCSI hardware interface.

C. It implements iSCSI protocol.

D. It supports iISCSI target operation over standard NICs.

E. It supports iISCSI target operations over standard FC.

Correct Answer: ACD

QUESTION 4

If you believe you have a FC SAN performance problem, which NetApp utility or command would gather both your
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Solaris host and storage appliance data for analysis?
A. poststat

B. perfstat

C. prestat

D. sio_ntap.exe

Correct Answer: B

QUESTION 5
Given the content of the /etc/quotas file, fill in the blank. "The following user name(s)
is given an explicit quota of 100 MB of disk space and 75K files in the
Ivollwmv/projl gtree. This user is also restricted to the default limit of 50 MB of disk space and 15K files."
A. wesson
B. All users
C. Imoe
D. None of the above

Correct Answer: C
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